ol
RS
o|J
ofig
Nfo

oln

@ 02 BE AA50] ofo]tt,

7

® &47} ot

wolc},

A

@) 259 ot 13 271 2

=
71 A=

A 1 3 7] 2}

A%

=
L

1 Bt
L ol




L Z 23 %x32x5x T4 O AQ4LE HIEA F5F ALY

® 2.3.5 @ 2.3,7 @)2.3.5.7

@ 22,32,52,72 ® 23,325, 74

2 x32x5xT7io|BR A£94=2 3 5 70]|C}.




3.

oS 5 Al 5= 108, 144, 162 9] T2

O 22x3?

@ 2x33

@22)(5 @2)(32

® 22x3

A %-2] |zt

okl Y Bors

o 1T

whekA A 4-0] FoF

TE92x320|1

-Li-»]tﬂ—'—ok _4 o]:/\olq_'
=1, 2, 3, 2% 3, 32, 2x 32 oJt},




5 5p]

By ololg e 714

st o

24

3

ol

9]

S}
of

Y 5ok o

e il

]

St
ot

4

I

°f

0

o, 2 7]

2 x5 94

a1y

9} of
2 6 2717 Wl

o
o}




i
o
filo
4
ol
fot
f
v
o,
=
L
f

@® -5<x<9 @)-5<x<9 ® -5<x<9

@ x<-5 x<9 ® x<-5 x<9

~&B

x £ -5 R} 7] b 270 2rkel EAsjtt 5 <
x £ 9 Hlgrol ok » £ 9 1T} Arie} ST ¢ x <9
webA x i —5HT} 2] 98 9 ujgkoltt ;

-5<x<9




= EE 7}1% *ﬂ , EHZVJE’J Yoz %

T-otH?

@1 -3 05 @4

b |-3| 2
al|c| 3
=%

2 StH 2+ 3 + (-2) = 3 °|BR
b+(-3)+2=3..b=4
44c+(-2)=3.c=1
a+1+3=3..a=-1




@ 3a=3x(-2)=-6
@-a+2=—-(-2)+2=2+2=4
®2a-3=2%x(-2)-3=-4-3=-7
@1+a>=1+(-2?=144=5
®a?-a=(-2)%-(-2)=4+(+2)=6




15 2o ol 8otod 4] 5 24,32,36 9] H4

of

@ 4 @ 48 ® 9  (@)2ss

~&B

® 360

2)24 2)32 2)36
2)12 2) 16 2)18
2) 6 2) 8 3) 9
3 2) 4 3
P
5.24=2"x3  .32=2"  .36=2"x3

mrebA X AFalg= 2° x 32 = 288 °| T

2




214 Q]of| A +% o 71 7t A= 4, — Wl 27

o A

Vg2 geE b e a-b o AL

@ 13 o X @% 1o © s

2
+Z5 = +6.25 o|B2 7} 717 A4 a = +6

16

= 32HO IR L LI AL p=—4

La=b=(+6)-(-4) =10




10.

23 Bt} 1.7 22 54,47 B} -12 2 FE
W& otolEh




(_

6) x

@)(-9) x (+13) + 10
@ 48 +

(=2)

)—(=4) +
3)+(+4) +
1)+ (-11) =

(+13) + 10
117) 4+ 10 = -107
)10 120 ( 130)
-1+(-1)=
@ 48 + (-6) x (-2)
(-8) x (=2) = 16
® (-2)? - (+22)-33

= (+4) - (+4) - 27 = =27

(~11)
(~11)
-10

17

@

||/-\

/\

-3
(=
(+
=9) X
(=
-1
= (+ -1




12, thg AN AHEE AN EL gro

(—4) {l (-3

=(-4) X% +( 4)><(— )+
1

= ——)+3+— —
2

:3+(—§)+§ —_—

|
3

=3+ —§)+
=3+(2h)
=(h)

@ (7hH BuEEl @ (W)

@ () - ©=h




13.

-+

e A H A BAA A
g2 Azl deHd CAds
2 5hH? 4

#
He 4

o

[¢]

1
@3 @

ol o
®
oo
©
ool w

Nojco @ td

NeRIEN|

~&B

HASBOAY:

®|©o ~—
Il
o
+
NGO
Il
=~ |

X |
N = /I\
| o

o Nl w

HASHC o AL
qodgesie 4 (-2

.3
3




14. a=+(b+c)+ (-2) & WA 715 E AFoto] YepiA?
—2a a (b+c¢)
1o @ ot 2 ©
ab a
@__QC @—Q(b—i-c)
(b+o)+(-2) =ax ——x—=—2 ot}




15. Th e o] AT ARG ol 029 e WEYLS
2719 o] Sel=?

x*—2
T~-8x+2--""
@ 4x @ 4x+4 ® Tx+2
(@)11)6—!—2 ® 14x+4

2(x=2)+338x+2)=2x-4+9x+6=11x+2




